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EXAMINATION 2021-22 ' ' ;
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.Illlﬂ Aoy |
- lime : Define  Costing.  Cost Accounting and Cost
Accountancy.
[&-& &9 ot @ o Hfare | 2 Gems Arvh Qa sweas w4ty qerzo
Attempt any five questions from Section A and Distinguish - between  direct  material and  indirect
any three questions from Section B. material.
(i) ;;‘;*mmwmmmm 3 A @ TR @ @ ¢ 7 vt difn)
|
What are possible dangers of under-stocking ? Di
Answer each question of Section A withi B
50 words. e 4. BT B aRefs Y B A wgE @ AR @)
(iii) 37 T 7ol B TR AW A ™ TR ARG |
2 By Explain an inci| i
| agmu | | afafee o Eﬁ‘“‘ o I ¥ one principal base for the remuneration of
i Liit your answers witin the given answer 5. WRadTham @ SR SyRardl @1 aftew B
book. Additional answer book (B-Answer Classify the overheads according to variability.
boak} should mot be provided or used. 6 ST R B R
Explain the Production Account.
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ey A | I | iy e fafae
" Ram | YR | any
e Igem 0000 'm | '(f) (t) (r) (?) {’)
i3 NTeT F9 JA7 zi0 '_FF’F_.IF_- - T 4 = -
ST BT 10% (1-1. 2019) I- 15,200 | 11,680 | 4,800 | 13,120 8,966
Y @7 T 50 A &u | 64,000 | 91.200 | 19,200 | 56,000 | 25.600
Calculate the economic order quantity for matenial &4
12,800 | 10,400 | 5,600 | 10,240 | 9.600
‘M’ The followmng details are turnished : ._(31'12: 2!‘.119} 2

Annual usages 90000 units Fal AR H IAT 1500 Zq, s & A G
Buying cost per order t10 T 25.600; HMIT SRTAE @ T 15200 A0 HAgh
Cost of carrying inventory 10% of cost ¥ 56.000 2|
Cost per unit t 50 From the following information prepare Pig lron
qve—d Production A/c showing cost per ton of each class of
(Section——B] expenditure and of the pig iron produced :
e ;. (&8 & ur g dfFT) UdE 9 15 JB Particula Coal | Coke Lime | Iron Sundries
rs ) ® stone | stone v
i 2 | o | @ )
Attempt any three questions. Each question carries Stock on 1.1 1T 1 T 1
15 marks. 2019 15,200 11,680) 4,800 | 13,120 8,966
g amfafaa qaa 4 Safed @a @ vAF 7”3 fag Purchasing
T Sz wR @ @ B, 9 T A A during the
e T T year 64,000 | 91,200 | 19,200 | 56,000 | 25.600
Stock on
31-12- 2019 jI.’.,!‘;l]'ﬂ+ll’].s‘lf.'!lli 5600 1102401 o04nn
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Ihe total production of pig iron consisted of 1500 tons;
sales of slag T 25,600; normal works charges T 15,200
and wages ¥ 56,000

9 Un gRfuiln @t B ar 2019 @ e gaffe wa
%

b

. —
aft v @ A _ 8,75,000
gl 6.75.000
FraE Iuftam 1.85,625
Y vd |HA @qg 1,16,250

frand -

(¥} FWEAW AT

(8) s @ & AW

(41) #rEE SuftaEl & goam F9gh W sfawa dn
TRy Ud WWFG @l @1 SREM @ W
gfereret |

The accounts of Engineering Co. Ltd. shows for 2019 :

https://www.hnbguonline.com T
Material used 8,75,000
Wages 6,75,000
Works overhead 1,85,625
Office and normal expenses 1,16,250
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Show -
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(b} total cost of production
() hmmlumWMMIn

the direct wages and percentage that the office
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| P & s amh Py 600 |
5. ﬁfdmﬂmﬁmﬂ‘ﬂm <0
O ¥ 3 42 @ ¥ 7 20 3w

wraraia 100
The following transactions ——

took place in month of

December 2019 in ‘XYZ" Co. 1.ud Give necessany

https://www.hnbguonline.com




i7y
joaunal cnlries in respect of these ll'm“

prepae inmain pccounts

L4

b | Muerial I‘mchucd-:

fu) Credit punchases 4,000

(hi Uk puarchanes 3,000

(o1 € redit purchases for special jobs 500
> Return o suppliers 250
1| Digect materials issued O jobs 1,000
4 | Indirect materials issucd Lo jobs 500
5. | Materials retumned from job to store 250 |
6. | Matcrials transfesred from Job No. :

o JobNo 20 '

RREET TS UV A L LIRS dn qehn & ? @l dw fha
At qan (it adl ? A1 D I 0 A AR g

I» it desirabic to take profit on uncompleted contencts 7
If s0, to what extent and wiy 7 State the method of this

kind of profit.

7 sital o oftufie 23 & f3.-81 2} ARt o1 IeTEel
aftg sty A

Dieseribe any fuo methods of remuncration of labourer
with suitable examples.

1 mﬂmﬁﬁ%wﬂm1mmml
Describe briefly various kinds of costing.
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